x(x—=1)(x+1)-6=02] Al o}HA?

®2 -1, -3 ® -2,1, -3
@ -2, -1+ 2 @2, -1+ 2

® 21, -3

FA=x(x?-1)-6=x>-x-6=0
2|11 0 -1 -6
2 4 6
1 2 3 0

(x-2)(x*+2x+3)=0
Cx=2,-1+ V2




® VII @ iz
® Vi3 @) v
® a5 gt

Bylo] 1 2xy + 2xz + 2yz = 22

BXE]  4x 44y +47=24

R d@? = 2%+ 3% + 22
=(x+y+2)?-2(xy+yz+2zx)
=62-22=14

d= 14




A x? +y? = 6ax + 2ay + 20a — 10 = 0 = = a 9] gLel TAglo]
RS Adct 1 - ForH?

@ (2, -1) @ (3, -2) ® (2, -2)

@ (-1, -2) ® 6 -1

a o At &4 == UeEhlE
a(—6x + 2y +20) + (x> +y>-10) =0

¥ +y2=10---@
®, @ ddstd
x% 4 (3x - 10)2 = 10
¥ -6x+9=0-> (x-3)2=0
Lx=3, y=-1

{—6x+2y+2020—>y:3x—10~-@




@) (x- 1)g(x) @ (x+1)g)
@ (x+1)%g(x) ® (x-1)%g(x)

f(x), g(x) ol Higte, (x +1)f(x) = (x - 1)g(x)
A o, o2 5 f(x) 2 g(x) 9 HAFFE?

® (x-1)%(x)

(x+1)f(x) = (x-1)g(x)--- @
x+ 17 x—10] A& LolBZ
x+ 12 g(x) & Ql4=o|tt.
oHebA g(x) = (x + 1)h(x)---
DA £(x) = (x~ ()
@2}t @A f(x) 2t g(x) o] FHAFHi4
(x=1)(x+ Dh(x) 5, (x—1)g(x)

@=sod
®

=
—




